
PO Box 5666, Minto, NSW, 2566 Australia
Ph: 61 2 9603 0111 Fax: 61 2 9820 2500

E-mail: admin@whiteline.com.au
A.B.N. 68 073 002 034 Code: Z254

Warning: Please drive carefully while you accustom yourself to the changed vehicle behaviour.

Fitting:

Sway bar installation must be done with the vehicle at normal ride
height. Check fitting kit contents before installation.

1. Attach sway bar chassis brackets at the rear of the control arm.

2. Loosely attach sway bar links to the control arms through
original mounting holes.

3. Lubricate bushes with grease supplied and fit to the sway bar.

4. Mount sway bar onto chassis brackets.

5. Loosely attach sway bar links to the sway bar, with the links
located on the outside of the sway bar.

6. With the sway bar in its correct position, tighten all fasteners.

7. Test drive the vehicle, and re-check tension.

Fitting Instructions

BTF77

Application;

Specification;

Toyota Corolla AE92-93 1989-1994 FRONT
(without OEM front sway bar).
(Refer catalogue for exact listing).

BTF77 - 24mm non-adjustable full kit sway bar.

Contents;
1. 2 x D-bush
2. 4 x link bush
3. 2 x 3/8 * 2 inch bolt
4. 4 x 3/8 * 1 inch bolt
5. 2 x M10 nyloc nut
6. 4 x M10 nut
7. 4 x 3/8 nyloc nut
8. 2 x 3/8 * 1 1/4 flat washer large
9. 4 x M10 saucer washer
10. 6 x 3/8 * 7/8 flat washer small
11. 4 x M10 spring washer
12. 2 x chassis bracket
13. 1 x grease bag
14. 2 x single eye link
15. 2 x D-bush bracket
16. 1 x sway bar

Link

Nyloc nut

Washer-large

Nyloc nut

Sway bar

Bolt

Washer-small

Chassis/
suspension

mount

Lock nuts
Washer (saucer)

CHASSIS MOUNT

LINK

SWAY BAR

CONTROL ARM

PICTURE 3

SWAY BAR

CONTROL ARM

PICTURE 2

CHASSIS MOUNT

PICTURE 1

LINK

CHASSIS MOUNT

CONTROL ARM

SWAY BAR


